UNIT 2 REVIEW FOR ANALYTIC GEOMETRY MIDTERM
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16. Two telephone poles are supported by 96 -foot cables
as shown below. The cables are attached at a height
of 50 feet. How far apart are the telephone poles?
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17. If the shadow of this building is 50 meters long when
the angle of elevation to the sun is 30°what is the
approximate height, in meters, of the building?
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18. Given A HKD= A KL@Dand sin {LJ) = 2/9, find sin (LM) -/ 2"
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19. If cos(x) = sin(45°), what is the value of x? q0-45 = ;
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20. If sin{x) = cos(27°), what is the value of x? 30-271= 3 L

21, If cos(x) = sin(45°), what is the value of x? q0-45=

22. What is the relationship between the sin and cos functions that you used to answer #’s 19-217
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22. A bridge is built across a stream as shown in this . v 84¢
diagram. The top of the bridge is 6 meters above Bridge . % . A
the stream. Find the length of the bridge in meters. —— -
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23. In the drawing below, AACE~AABD.

Identify the following trig ratios using corresponding sides of the following:
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24. Which equation can be used to determine the value of x? Find the value of x.
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25. What is the exact length of the diagonal of a square with A H
a side length of 8 in?
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26. Right triangle 4B¢ has sides of length 5 . 12, and 13.
Right triangle DEF is similar to A4BC , but each side is
three times longer than the corresponding side of ABC

which fractions represent the cosme of Z4 and the
cosineof ZD ? ‘
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